ENSAROREERT — 2 ~N— XBISH—F 2018485250 (4) 2@/ A9H

m"fﬁ%Zﬁ KEEF 4t [IBF] B ‘ [Xiz] % ‘ [eErsm] — |2 (&) 12000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 2 | AtHTR— 1:08.4 1-1 35.1| 84.4 | 4 474 | RERT (EH)
1158 IX b 54.0 (=) (+6) KEE
Rk v/ EeE BINSFIN—Ta J—HrIr—L
3 s 2 | EERMAETT 1:08.5 2-2 35.1(83.3| 2 482 | AER— (BR)
28|13 INESY 54.0 (172) o) | EEER
L:wiNnNygLhTr B:T7zIZCH- FRESS
S . o2 | EPR 1:08.7 6-4 35.1| 81.3 | 5 40 | EEEA (ER)
NX |‘7’f -~ 54.0 (11/2) (0) HiAEF
R:ZoU—>rbe—0O— BKREFv> NG S
e e s 2 | HHEBE 1:08.9 10-7 35.0(79.2 | 7 390 | KRE (B®R)
X4 X — A52.0 (1 1/4) G4y | D KTL=—2>y
R:YVv2x2Y14 B:R2AT7XE-— bEy-vie ]

NN X E& :09. - . . MKER (ER)
HLLUF—L 4 2 s 1 89)1 4-6 35.6| 77.2 | 10 ;1258) ig;kliéﬁl
R:ANT—"FI B:T4ITX>TF J—YTr—LA
2 S jt 2 | AIEBZ 1:09.1 2-2 35.7| 77.3 | 8 482 | BEBX (RR)
INANY— 540 ) © |TIEER- LTI )
R/ v>T4 B:INERZR B85

3 it 2 | AEEN 1:09.4 -1 [35.2|74.0 | 3 426 | BREIAESE ()

AR R B ZE PN Y 54.0 @) (g) | AAAFE
LRI R BixA43veIa pNCre]
e . ft 2 | FXREA 1:09.5 6-4 35.9| 73.3 | 1 452 | BIEEE (RR)
g8l7l12| V>V 54.0 (1/2) (+4) | EFUBEE=
RNZ—ba21—Z B:VYLIN-F ST -4
I 42 | HIUBLTE 1:09.7 8-7 35.9| 71.3 | 9 430 | IEILTEHE (3ER)
9|5|7| 73> 54.0 (1 1/4) (4) | KEULER
R:T5>TURR B:evyv b HILRZY b
5 o s B2 | KOEH 1:09.9 8-10 36.2| 69.6 | 6 448 | HHESL (EX)
EH 3 t—;'/\t*X 54.0 (1 1/4) (_2) U.U:*HE
IANRZATNYT B E-FIN—F1— ¥ vie )
> s 2 | EFED 1:10.0 11-12 35.8| 68.1 | 14 444 | RZIIBERR (BB)
B A IR A e L% A51.0 (3/4) “10) 7}<J—_§m
/TR B:YvAFLIAX FREFH
B 2 | BRE 1:10.4 13-13  [35.9| 64.2 | 13 | 414 |FIEHBE= (Eif)
12/8114| YT/ 7HY #83.0 (2 1/2) o) |mEET
gL F Y0 ML B A — =
N N . s 2 | REBHH 1:10.7 47 37.2| 62.8 | 11 402 | SHEEL (EH)
1300 5| EZFY—=T—JLF A51.0 (1 3/4) () | EBECE
RixrvvYsEeE BiAVIHIIHL H-NSIN—7 24V K
S N BEHF 112, - . . KERE— (%#
14 6 NFIF Y= % 2 540% 1(182)1 14-14 36.0 | 47.4 | 12 (4+366) AT
LA Lk—bL B:HhEX+ /0T Ny tie
@ 21 L
£y 46.3-35.1
NaO>24 4L | 12.0-10.1-11.2-11.4-11.9-11.8
® I—F—@EBIERL
13—7-
23—7F—
G=7"= (x8,10,13) (4,5) (9,12) (3,7)2(1,11) 14=6
43—+ — (x8,10,13) (9,12)4(2,5,7)3,1,11,14=6
[ RN
B Op 8 1,190 794K 8-13 860 & 5-8 1,960 &R 8-9-13 9,600/
# B 8 490M 8-9 2,410/ B E 8-13 2,300 EE 8-13-9 87,030
13 250M 9-13 770M B H 8-13 5,630M
9 470M

ABICOVWTRDTEEERROODE. TR LIV,



